X1-VIPER Instruction manual

ETRIUSIERN AN |

\ /|
fi

I

i
/ v

e

i e \] =
b=l
\,, I \

/] /

/
/

/
/‘\\ ,/‘Vx /
T

e
I [
1] [
0 [
XL LE
7l

o |e|
I«
:

‘ (s sy
i ‘/\

4

Al

i
|
/

ExtrUSion and CNC ® copyright © all rights reserv

«d (VERSION 25.09 Last updated:2023 )


AutoCAD SHX Text
P 1 


Package Includes 1/2

PN

030

j@;@

&

780mm x 2 580mm x 1

580mm x 2

@

(

M8 Washer x 12

NS

50

X6

M8 x30mm x 12

ExtrUSion and CNC ® copyright © all rights reserved (VERSION 25.09 Last updated2023 )

M8 x16mm x 36



AutoCAD SHX Text
P 2 


Package Includes 2/2

vﬁ
— v
N
M8 x20mm x 8 M8 x25mm x 4 M8 x20mm x 8 Level Feet x 4 MS x 64
N
M8 X 12
7
=7 [= ]
E]
a] o o

ExtrUSion and CNC ® copyright © all rights reserved (VERSION 25.09 Last updated2023 ) P 3


AutoCAD SHX Text
P 3 


XI-VIPER Structure . Main Frame

1400mm x 2 500mm x 2 x4 X2 M8 x 24 M8 x16mm x 24

Slide the Seat T-sliding Nuts before closing
the frame

ExtrUSion and CNC ® copyright © all rights reserved (VERSION 25.09 Last updated2023 )

P 4


AutoCAD SHX Text
P 4 


T g XI-VIPER Structure . Seat Profiles

580mm x 2 x 4 x4 M8 x 8 M8 x16mm x 8 M8 x4

N
R S
@"

ExtrUSion and CNC ® copyright © all rights reserved (VERSION 25.09 Last updated2023 ) P 5


AutoCAD SHX Text
P 5 


<&

x 4

M8 x 30mm x 12

M8 x 12

M8 x 12

XI-VIPER Structure . leveling feet

ExtrUSion and CNC ® copyright © all rights reserved (VERSION 25.09 Last updated2023 )

P

6


AutoCAD SHX Text
P 6 


(o) XI-VIPER Structure .

©
7 Q) Sandwich Plate
B - —

780mm x 2 X2 M8 x20mm x 8 M8 x20mm x 8 M8 x 16 M8 x 8

ExtrUSion and CNC ® copyright © all rights reserved (VERSION 25.09 Last updated2023 )

P


AutoCAD SHX Text
P 7 


XI-VIPER Structure

580mm x 1

x 2 M8 X 16mm x 4 M8 x 4

ExtrUSion and CNC ® copyright © all rights reserved (VERSION 25.09 Last updated2023 )

. Side Arm

P

8


AutoCAD SHX Text
P 8 


[EXTRIREN AR
OAIOAITO

O~ 1O VO

If you still have some questions regarding assembly of this product or about the manual itself,
please refer to our support department. They can be reached at

support(@extrusionandcnc.com

whatsapp: +971506580398

Extrusion and CNC e copyright © all rights reserved (VERSION 2.10 Last updated2022 ) P9


AutoCAD SHX Text
Extrusion and CNC ® copyright ©  all rights reserved  (VERSION 2.10  Last updated:2022 )    and CNC ® copyright ©  all rights reserved  (VERSION 2.10  Last updated:2022 )    ® copyright ©  all rights reserved  (VERSION 2.10  Last updated:2022 )   

AutoCAD SHX Text
P 9 


	X1 VIPER 001
	Sheets and Views
	Layout2


	X1 VIPER 002
	Sheets and Views
	Layout2


	X1 VIPER 003
	Sheets and Views
	Layout2


	X1 VIPER 004
	Sheets and Views
	Layout2


	X1 VIPER 005
	Sheets and Views
	Layout2


	X1 VIPER 006
	Sheets and Views
	Layout2


	X1 VIPER 007
	Sheets and Views
	Layout3


	X1 VIPER 008
	Sheets and Views
	Layout3


	X1 VIPER 009
	Sheets and Views
	Layout3



